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Calculate the mean and standard deviation of the weights 

 

 

11) Jack invests £1,750 in a savings account which earns compound interest paid at a rate of  

                  0.85% every 3 months.  He uses a spreadsheet to keep track of the accounts earnings: 

 A B C D 

1  Starting amount (£) Interest (£) Final Amount (£) 

2 First 3 months 1750.00 14.88 1764.88 

3 Second 3 months 1764.88   

4 Third 3 Months    

5 Fourth 3 Months    
 

a) Write down the spreadsheet formula that will calculate the vale in cell C2 
b) Complete the spreadsheet 
c) What is the AER on this account? 

 

12)   If an account earns an AER of 2.1%, and the amount is calculated monthly, what is the nominal interest rate on the account? 

 

13) If Henry borrows £550, at 27.4% APR and pays it back in two equal, annual instalments, how much is each instalment? 

 

14) Using trial and improvement, what is the APR on a loan of £250, paid back in 3 monthly instalments of £100, £150 and £150? 

 


